Chemical Reactions
Anabolic Reactions:
Dehydration (Condensation) Synthesis
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Formation of a Triglyceride				Formation of a Protein
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Catabolic Reactions:
[image: Transesterification1]Hydrolysis




Oxidation Reduction (Redox) Reactions
[image: http://chemwiki.ucdavis.edu/@api/deki/files/2261/=reducingoxidizingdiagram.png]





Buffers
[image: http://www.pleasanton.k12.ca.us/avhsweb/thiel/apbio/notes/images1_14/buffer.jpg]



Questions:
1. Identify each of the following activities as either anabolic or catabolic:
a) Protein synthesis
b) Digestion
c) DNA synthesis
d) Photosynthesis
e) Cellular respiration

2. Differentiate between a hydrolysis reaction and a condensation reaction.

3. [bookmark: _GoBack]Explain why a redox reaction must involve changes to two molecules simultaneously.
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Formation of phosphodiester bond
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(b) Hydrolysis
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